€artscher

107301



Bartscher GmbH
Franz-Kleine-Str. 28
D-33154 Salzkotten
Germany

Version: 1.0

Phone: +49 5258 971-0

Fax: +49 5258 971-120

Service hotline: +49 5258 971-197
www.bartscher.com

Date of preparation: 2020-12-03

Original instruction manual



Technical Data

Name:

Art. No.:

Material:

Dimensions of glass top (W x D x H), in
mm:

Number of utility niches:

Utility surface in the utility niche (W x D),
in mm:

Dimensions of shelf below utility niche
(W x D), in mm:

Swivel castors:
Dimensions (W x D x H), in mm:

Weight, in kg:

€artscher

Snackpoint 200
107301
stainless steel
790 x 200 x 300
1

760 x 590

755 x 580

4, 2 of which can be locked into place
800 x 600 x 1.225
42

We reserve the right to implement technical modifications.

Version / Characteristics

* With glass top
* Properties of utility niches:

— adjustable height of insert shelf, 3 heights
— can be fitted with optional extra insert shelves
» Magnetic stainless steel front can be used as advertising space

* Equipped with:

— shelf below utility niche, dimensions: W 755 x D 580 mm

+ 2 cable ducts

* Glass panes (safety glass), rounded at server's side
» Diverse appliance combinations thanks to optional extra insert shelves
» Possibility of connecting 2 or more counters

* The set includes:
— 2 connection elements

— shelf reinforcements with adjustable fitting for optional extra insert

shelves

107301

3/16



€artscher

List of Components of the Appliance

Glass top/sneeze guard
Main appliance

Cable guide
Height-adjustable insert shelf
Cable ducts (2 pcs)

11. Shelf reinforcements

© N wE

4/16

Glass top

Swivel castors (4 pcs)

Shelf below utility niche
Utility niche

10. Connection elements (2 pcs)

© o MDD

Fig. 1

107301



€artscher

Snackpoint 200 is intended to serve as a 'food preparation station' that can be fitted
with various appliances. You can combine many different appliances, and owing to
removable guard they are suitable for many different combinations.

Intended Use

Unpacking

1. Unpack the appliance and remove all external and internal packaging elements.

A CAUTION!

Choking hazard!

Prevent children from accessing packaging materials, for instance: plastic
bags and EPS elements.

2. Remove and dispose of packaging material according to environmental
protection regulations.

3. Check completeness of delivery according to the list below:
— main unit w 1 adjustable insert shelf
— glass top, 3-piece + 6 pane holders
— glass shelf/sneeze guard
— 2 triple corner connection elements for panes
— 4 swivel castors
— 2 connection elements for, e.g., 2 appliances

— 2 shelf reinforcements with adjustable fitting for optional extra insert
shelves

— set of bolts

4. Remove the protective film from the delivered elements and the appliance.
Remove the film slowly, so no glue residues are left. Remove any glue residues
with the use of a suitable solvent.

107301 5/16



€artscher

Assembly

Fig. 2

1. Undo bolts in side walls of the main unit.
2. Move the insert shelf and hang it on bolts at a required height.

3. Tighten bolts properly.
A utility niche is created, in which required appliances may be placed.

6/16 107301



€artscher

Fig. 3

4. Place the main unit on its side.
5. Fix the enclosed swivel castors at the bottom of the main unit; each time drive in

4 bolts (16 pcs of M5 bolts) into threaded sleeves.
6. Make sure that swivel castors with brakes are fixed at server's side.

7. Set the appliance on swivel castors.

107301 7116



€artscher

L # ™,
T .
—9 §
\ A N T
\
" \H___J/’f
L ______----_::'.'-1
! =
Fig. 4

8. Place 6 pane holders in the designated openings in both side elements and at
the front.

Beforehand, insert bolts into pane holders.

Insert 16 pcs of M4 bolts, with 1 into each opening, and 12 pcs of M4 blind rivet
nuts.

8/16 107301



€artscher

9. Insert panes into pane holders.
10. Align glass panes.

Fig. 5

Fig. 6

11. Insert both triple corner connection elements into openings in side panes and
the front pane, and tighten them.

107301 9/16



€artscher

12. Insert shelf/sneeze guard onto both
side panes and the front pane.

13. Connect the shelf/sneeze guard with
other panes with the pre-installed
corner connection elements, seal
and bolts.

14. Use hex key to tighten bolts in pane
holders.

Fig. 8

15. To use another insert shelves (available optionally), both shelf reinforcements
must be installed on the insert shelf.

NOTE:

Depending on the shelf height, reinforcements for additional shelves are
installed differently, with suitable utility niches for the utilised appliances.

16. Point and hold the insert shelf in the required direction of installation, over the
openings in the insert shelf designated to this end (Fig. 8).

10/16 107301



€artscher

17. Shelf reinforcements should be tightened firmly with the insert shelf from the
bottom, with the use of the enclosed bolts (10 pcs of M5 bolts).

Fig. 9
18. Tighten safety bolts (6 pcs of M5 bolts) in the utility trolley's metal plate.

To this end, insert bolts into openings designated for this purpose and secure them
from the bottom with M5 nuts.

107301 11/16



€artscher

Installation

» Snackpoint should be located in an area that is:

— even, with sufficient bearing capacity, resistant to water, dry and resistant
to high temperatures;

— sufficiently large, and thus enabling usage of the installed appliances
with no problems;

— easily accessible;
— well ventilated.

« During installation, make sure appliances' ventilation openings are not covered
nor blocked.

» Never place the appliance directly next to walls, furniture, or other objects made
of flammable materials.

* Maintain sufficient clearance from walls and other objects at sides and at the
back. Observe indications contained in instruction manuals for the utilised
appliances.

*  When it is not possible to maintain the recommended clearances, use
appropriate protection measures (e.g., film made of material resistant to high
temperatures) that will ensure keeping the wall temperature within a safe range
(up to 60°C).

+ Observe fire-fighting regulations in force in the installation area.

* Lock swivel castors following installation of Snackpoint in the selected location.

Before Use

1. Before use, clean the appliance, observing instructions in section '‘Cleaning'.
2. For selected appliances, install suitable inset shelf.

3. Place appliances in utility niche on an insert shelf or in suitable utility niches of
the insert shelf.

4. Power cords of electrical appliances should be fed through cable ducts to the
bottom cable guide.

5. Plug appliances into suitable single sockets.

12/16 107301



€artscher

Preparation and serving of foods with the highest flexibility retained. Snackpoint 200
offers practically limitless opportunities — from a hot-dog stand to a counter for
grilled delicacies or a coffee bar. The mobile counter's function may be switched

Equipment (Available Optionally)

easily and rapidly, and thus perfectly adapted for its new job.

There are various combinations of appliances possible, owing to optionally available

insert shelves with suitable utility niches and cable ducts.

Insert Shelves and Possible Appliance Combinations

Model-Name/ Appliance name
Insert shelf art. No.

Snackpoint 200 M1/ 107302 Deep fryer

- 3 Curry sausage slicer

v AN
N

Snackpoint 200 M2 / 107303 Induction cooker fitting set

Bain-marie

Snackpoint 200 M3 / 107304 Grill plate

— \: Bain-marie

Snackpoint 200 M4 / 107305 2 bain-maries

‘_ _ N

107301

Art. No.

A162823E
120578

105836S

200240

A370031

200240

200240

13/16



€artscher

Snackpoint 200 M5 / 107306

e

X

14716

=

=

Induction wok fitting set

Bain-marie

Standard element, e.g. for:
Coffee machine

Cup heater

Milk chiller

105997

200240

190052
103076
190076

107301



€artscher

With 2 Snackpoint 200 counters connected, the shorter side pane makes it possible
to work with appliances smoothly.

Important Indication:

If the shorter side pane is required, 2 panes, art. No. 107309, are needed to
establish connection.

» Connection plates needed for combination of 2 trolleys are delivered with
appliances (item 10 in the overview of appliance components).

Fig. 10

/ VB Snackpoint 200 pane
Material: glass
Features:
— with pre-bored openings
Dimensions: 194 x D 6 x H 300 mm
Weight: 0.84 kg
Art. No. 107309

Fig. 11

107301 15/16




€artscher

Cleaning

1. Clean the appliance regularly at the end of each working day, and, if necessary,
also in the meantime or when the appliance is not to be used for a longer time.

2. Clean the housing and glass top with worm water, a mild cleaning agent and
soft, damp cloth.

3. Clean the utilised equipment (insert shelves, connection elements, shelf
reinforcements) with a soft, damp cloth.

4. If needed, use suitable cleaning agents for stainless steel surfaces. Observe
instructions of such a cleaning agent's manufacturer.

5. Wipe all surfaces with a clean cloth.

6. Finally, dry washed surfaces with a soft cloth.

7. Clean the utilised table-top appliances according to indications provided in their

instruction manuals.

16/16 107301



